—RAREABERISOREF2)TATIATUOR

=& wti8
20215831 BHRE
(B M)
EDE
[(RBEE]
T A W LEEE 9,563,740
* I A £ 280,000
RBEE &5 9,843,740
(EE&EE]
EREAE EEATESD 100,000
B EEE &&f 100,000
' E & &t 9,943,740
BEDE
(EafE] -
x i = 33,411
B 2 2 2,805,000
YRR 6,822
x I EANTRE 70,000
RBAaR &5 2,915,233
8 & & & 2,915,233
IEBRBAEE DED
($eE ERREAE]
F & £ 100,000
8§ & IE Bk Bt E & &t 100,000
OBEEKXRME~ADIFTHEE) (100,000)
[—HEIERREAE])
— & IE R BA 2 6,928,507
— it I Bk Bf E & &t 6,928,507
IE ik Bt E & &t 7,028,507

BERV—BEKMESST 9,943,740




B 202046H1H
E 202145H31H

(Bfz: A)
[ —ARIERRES R DER
1. BEEBROE
(G AVERY|
Tt XS B £ E 7,720,000
B ANE B8 £ & 935,000
AES ® 1,050,000
—BEEEBRBIIA 0
AR FHBEg £ 1,980,000
INEEEBHERA 0
Z B A AR 78
H—RUBIHERA 0
BEINE & F 11,685,078
[(BEER]
D =%£E
INRBEEEXEEHRER 1,882,650
IR EEXERME 516,568
= - -1 2,399,218
2 EBE
X B EE 5,640,000
L& L 3k & 741
BENHERE 0
R E X & & 4,426
X - ¢ 0
= = & 2,200
B Oowm o F 450
X i BN 77,000
EHXREERE 0
BEE-EXE 33,046
=1 & 1 59,400
FR AT LEEE 224,741
M & 29,095
- BREXEREHR 0
T AN BOF 70,000
EBE &5t 6,141,099
BEERAAEG 8,540,317
L HE 2 OB 1@ 3 %3 3,144,761
L OH — A% IE BK OB E 1 OB % 3,144,761
— % E K B E B B8 % S 3,783,746
— R E KB EBHXRES 6,928,507
I $57%EIERKELE R DER
L OHl W OE IE KR OBE OE OB R R 100,000
EE IEMK B Bl XE S 100,000
I IEREAEEARES 7,028,507




